ggd

ud gd ud ud ooooobod
1 = ggd E 150,000
T2 = ggd E 50,000
T2 = ggd E 50,000
T2 = ggd E 50,000
TS = ggd E 28,500
TS = ggd E 28,500
T7 = ggd E 26,500
T7 = ggd E 26,500
T9 = ggd E 24,000
T9 = ggd E 24,000
T11 = ggd E 19,750
T11 = ggd E 19,750
T11 = ggd E 19,750
T11 = ggd E 19,750
T11 = ggd E 19,750
T11 = goono E 19,750
T17 = ggd E 16,750
T17 = ggd E 16,750
T17 = ggd E 16,750
T17 = ggd E 16,750
T21 = ggd E 14,316
T21 = ggd E 14,316
T21 = ggd E 14,316
T21 = ggd E 14,316
T21 = ggd E 14,316
T21 = ggd E 14,316
T27 = ggd E 12,500
T27 = ggd E 12,500
T27 = ggd E 12,500
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T27

T27

T27

T33

T33

T33

T33

T33

T33

T33

goo

goo

goo

goo

goo

goo

RN

goo

goo

goo

12,500
12,500
12,500
11,200
11,200
11,200
11,200
11,200
11,200

11,200
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